}[1/GeV]

ao™
2  t1
d {pT cdot Ness

|
w

1
dsd

BN
o

[HEN
o
R

1074

Ratio to ATLAS

0.

[EEY

5

13000 GeV pp tt
| T I T I T I T I T | T I T I I | 9
c
top Qo
P_" (ATLAS ttbar) D
— T s
—  m ATLAS 4%
_ --0-- Pythia 6.428 345 N
— —A— Pythia 6.428 370 12
B Pythia 6.428 ambt1 15
| —— Pythia 6.428 z2 43
>
2
B iy
™
— <
(9]
u .
o
(9]
- |
X
S,
- —]c
- | O
- <
- -1 O
- 4 ©
[%2]
B BEs
- N eR
o
= | | | ] | | | s
— -2
N /}\ X | 1
¥ = - _ \@ -
| —0.5
| 1 1 L 1 1 L | L 1 L 1 1 L |
0 500 1000



	Contents
	Page 1


